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In[1] :=N[E,55]
Out [1]=2.718281828459045235360287471352662497757247093699959575
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1
2{:-7-aj2.71828,18011,46384,47971,78130,51146,4
k=0

22
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Z o ~ 2.71828, 18284, 59045, 23536, 02471, 10869, 1

1
(1%—16)“)::259374,24601
(1-+-108)“ﬁ ~ 2.71828,17864

1E MATHEMATICA H1 » FIPYFE 5 ¢ Sum[f [k],{k,1,n}] =&

Zf D+ f2)+fB) +---+ f(n) -
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In[2]:= N[{Sum[1/k!,{k,0,10}],Sum[1/k!,{k,0,22}],
(1+1/10)~10, (1+0.00000001) ~100000000}, 32]
Out [2]= {2.7182818011463844797178130511464,
2.7182818284590452353602471108691,
2.5937424601000000000000000000000,

2.718281786395798%}
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